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Symbol Explanation

Fs Driver Resonance Frequency

Vas Driver volume of air having the same

acoustic compliance as the driver suspension.

Qts Driver - Total Q-damping at Fs. Qts = QmsQes

Qms+Qes

Qtc Speaker - Q-damping factor

Fb Speaker - Resonance Frequency

Vb Speaker - Inside volume

Fs

Fb

=
Qts

Qtc

or Fb =
Qqtc

Qts

Fs

Vb =
Vas(

Qtc

Qts

)2
− 1

or Qtc = Qts

√
Vas

Vb

+ 1

When using isobaric setup only Vasis changed:

V Isobaric
as =
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2
Vas

Amplitude A at frequency f :
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tc

, where fr =

(
f
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Observations:

A(fB) = A(fr = 1) = Qtc

A (f) =
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f 2
r + 1

, for Qtc =

√
1

2
= 0.707 . . .

A (f) =
fr
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, for Qtc =

1

2

Gain in dB = 20 log (A) = 10 log
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